
-0,59%

3

,

6

7

%

3

,

9

0

%

9
6
4
.
6
0
9

PK = 0+511,030

Cv  = 964,966

Kv  = 2718

E   = -4,48

L   = 121,875

d   = 0,683

PK = 0+851,059

Cv  = 962,971

Kv  = 3893

E   = -4,57

L   = 177,972

d   = 1,017

9
4
5
,
4
8
9

9
5
1
,
9
7
0

PK = 0+091,988

Cv  = 948,633

Kv  = 76236

E   = 0,22

L   = 171,223

d   = 0,048

0

+

0

2

0

0

+

0

4

0

0

+

0

6

0

0

+

0

8

0

0
+

1
0
0

0
+

1
2
0

0

+

1

4

0

0

+

1

6

0

0

+

1

8

0

0

+

2

0

0

0

+

2

2

0

0

+

2

4

0

0

+

2

6

0

0

+

2

8

0

0

+

3

0

0

0

+

3

2

0

0

+

3

4

0

0

+

3

6

0

0
+

3
8
0

0
+

4
0
0

0
+

4
2
0

0

+

4

4

0

0

+

4

6

0

0

+

4

8

0

0

+

5

0

0

0

+

5

2

0

0

+

5

4

0

0

+

5

6

0

0

+

5

8

0

0

+

6

0

0

0

+

6

2

0

0

+

6

4

0

0

+

6

6

0

0

+

6

8

0

0

+

7

0

0

0

+

7

2

0

0

+

7

4

0

0
+

7
6
0

0
+

7
8
0

0
+

8
0
0

0

+

8

2

0

0

+

8

4

0

0

+

8

6

0

0

+

8

8

0

0

+

9

0

0

0

+

9

2

0

0

+

9

4

0

0

+

9

6

0

0

+

9

8

0

B

P

:

 

S

T

A

=

0

+

0

0

0

.

0

0

L

B

:

 

L

=

4

.

9

8

6

 

D

I

R

=

S

9

°

 

2

4

'

 

2

7

.

6

5

"

W

L

E

:

 

S

T

A

=

0

+

0

0

4

.

9

9

S

S

_

L

R

B

:

 

A

=

8

0

.

0

7

2

 

L

=

4

9

.

3

1

9

L

E

:

 

S

T

A

=

0

+

3

0

1

.

7

1

S

S

_

L

R

B

:

 

A

=

9

2

.

0

0

0

 

L

=

6

2

.

6

9

6

L

E

:
 
S

T

A

=

0

+

7

3

7

.
1

8

S

S

_

L

R

B

:
 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

S

S

_

L

R

E

:
 
S

T

A

=

0

+

4

4

2

.
7

8

 
A

=

9

2

.
0

0

0

 
L

=

6

2

.
6

9

6

L

B

:
 
L

=

2

9

4

.
3

9

9

 
D

I
R

=

S

3

2

°
 
3

1

'
 
3

9

.
6

5

"
W

S

S

_

L

R

E

:

 

S

T

A

=

0

+

1

8

2

.

2

3

 

A

=

8

0

.

0

7

2

 

L

=

4

9

.

3

1

9

L

B

:

 

L

=

1

1

9

.

4

8

1

 

D

I

R

=

S

6

5

°

 

4

7

'
 

2

1

.

1

8

"

W

E

C

:

 

S

T

A

=

0

+

8

9

9

.

4

7

 

R

=

1

5

0

.

0

0

0

 

L

=

1

1

1

.

2

4

6

E
C

:
 
S

T
A

=
0
+

3
8
0
.
0
8
 
R

=
1
3
5
.
0
0
0
 
L
=

1
5
.
6
7
4

S
S

_
S

R
B

:
 
A

=
9
2
.
0
0
0
 
L
=

6
2
.
6
9
6

E

C

:
 
S

T

A

=

0

+

1

3

2

.
9

1

 
R

=

1

3

0

.
0

0

0

 
L

=

7

8

.
6

0

6

S

S

_

S

R

B

:
 
A

=

8

0

.
0

7

2

 
L

=

4

9

.
3

1

9

S
S

_
S

R
E

:
 
S

T
A

=
0
+

7
8
8
.
2
2
 
A

=
8
7
.
5
0
0
 
L
=

5
1
.
0
4
2

B
C

:
 
R

=
1
5
0
.
0
0
0
 
L
=

1
1
1
.
2
4
6

S

S

_

S

R

E

:
 
S

T

A

=

0

+

3

6

4

.
4

1

 
A

=

9

2

.
0

0

0

 
L

=

6

2

.
6

9

6

B

C

:
 
R

=

1

3

5

.
0

0

0

 
L

=

1

5

.
6

7

4

S

S

_

S

R

E

:

 

S

T

A

=

0

+

0

5

4

.

3

1

 

A

=

8

0

.

0

7

2

 

L

=

4

9

.

3

1

9

B

C

:

 

R

=

1

3

0

.

0

0

0

 

L

=

7

8

.

6

0

6



4

,
6

8

%

2
,
1
1
%

5

,

6

9

%

-

5

,

1

6

%

9
5

8
.
3

8
1

9
6

3
.
4

7
2

9
8

0
.
3

4
5

PK = 1+607,224

Cv  = 979,417

Kv  = 2347

E   = -3,26

L   = 76,602

d   = 0,313

PK = 1+198,714

Cv  = 962,664

Kv  = 2977

E   = -2,57

L   = 76,537

d   = 0,246

9
5

7
,
8

0
9

9
5

7
,
4

8
2

9
6

5
,
9

7
1

9
6

7
,
8

8
7

PK = 1+019,584

Cv  = 954,278

Kv  = 1391

E   = 9,84

L   = 136,898

d   = 1,684

PK = 1+379,925

Cv  = 966,490

Kv  = 1374

E   = 3,58

L   = 49,138

d   = 0,220

0

+

7

6

0

0

+

7

8

0

0

+

8

0

0

0

+

8

2

0

0
+

8
4
0

0
+

8
6
0

0
+

8
8
0

0

+

9

0

0

0

+

9

2

0

0

+

9

4

0

0

+

9

6

0

0

+

9

8

0

1

+

0

0

0

1

+

0

2

0

1

+

0

4

0

1

+

0

6

0

1

+

0

8

0

1

+

1

0

0

1

+

1

2

0

1

+

1

4

0

1

+

1

6

0

1
+

1
8
0

1
+

2
2
0

1

+

2

4

0

1

+

2

6

0

1

+

2

8

0

1

+

3

2

0

1

+

3

4

0

1

+

3

6

0

1

+

3

8

0

1

+

4

2

0

1

+

4

4

0

1

+

4

6

0

1

+

4

8

0

1
+

5
2
0

1
+

5
4
0

1
+

5
6
0

1
+

5
8
0

1
+

6
2
0

1
+

6
4
0

1
+

6
6
0

1
+

6
8
0

1

+

7

2

0

1

+

7

4

0

1

+

7

6

0

1

+

7

8

0

L

E

:

 

S

T

A

=

1

+

4

1

6

.

0

0

S

S

_

L

R

B

:

 

A

=

9

1

.

0

0

0

 

L

=

5

1

.

7

5

6

L
E

:
 
S

T
A

=
1
+

6
4
9
.
7
5

S
S

_
L
R

B
:
 
A

=
8
7
.
1
1
8
 
L
=

5
0
.
5
9
7

L

E

:

 

S

T

A

=

1

+

1

0

4

.

6

8

S

S

_

L

R

B

:

 

A

=

9

7

.

1

9

2

 

L

=

5

2

.

4

7

9

S

S

_

L

R

E

:

 

S

T

A

=

0

+

9

5

0

.

5

1

 

A

=

8

7

.

5

0

0

 

L

=

5

1

.

0

4

2

L

B

:

 

L

=

1

5

4

.

1

7

3

 

D

I

R

=

N

8

5

°

 

2

8

'
 

5

8

.

5

6

"

W

S

S

_

L

R

E

:

 

S

T

A

=

1

+

3

2

1

.

4

7

 

A

=

9

7

.

1

9

2

 

L

=

5

2

.

4

7

9

L

B

:

 

L

=

9

4

.

5

2

8

 

D

I

R

=

S

4

2

°

 

1

2

'

 

5

0

.

9

3

"

W

S
S

_
L
R

E
:
 
S

T
A

=
1
+

5
5
0
.
9
4
 
A

=
9
1
.
0
0
0
 
L
=

5
1
.
7
5
6

L
B

:
 
L
=

9
8
.
8
0
9
 
D

I
R

=
S

7
2
°
 
0
0
'
 
0
3
.
2
6
"
W

E

C

:
 
S

T

A

=

0

+

8

9

9

.
4

7

 
R

=

1

5

0

.
0

0

0

 
L

=

1

1

1

.
2

4

6

S

S

_

S

R

B

:
 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

E

C

:

 

S

T

A

=

1

+

2

6

8

.

9

9

 

R

=

1

8

0

.

0

0

0

 

L

=

1

1

1

.

8

3

5

S

S

_

S

R

B

:

 

A

=

9

7

.

1

9

2

 

L

=

5

2

.

4

7

9

E

C

:
 
S

T
A

=
1
+

4
9
9
.
1
8
 
R

=
1
6
0
.
0
0
0
 
L
=

3
1
.
4
2
4

S

S

_
S

R

B

:
 
A

=
9
1
.
0
0
0
 
L
=

5
1
.
7
5
6

E

C

:

 

S

T

A

=

1

+

7

3

3

.

3

0

 

R

=

1

5

0

.

0

0

0

 

L

=

3

2

.

9

6

0

S

S

_

S

R

B

:

 

A

=

8

7

.

1

1

8

 

L

=

5

0

.

5

9

7

S

S

_

S

R

E

:

 

S

T

A

=

0

+

7

8

8

.

2

2

 

A

=

8

7

.

5

0

0

 

L

=

5

1

.

0

4

2

S

S

_

S

R

E

:
 
S

T

A

=

1

+

1

5

7

.
1

6

 
A

=

9

7

.
1

9

2

 
L

=

5

2

.
4

7

9

B

C

:
 
R

=

1

8

0

.
0

0

0

 
L

=

1

1

1

.
8

3

5

S

S

_

S

R

E

:

 

S

T

A

=

1

+

4

6

7

.

7

6

 

A

=

9

1

.

0

0

0

 

L

=

5

1

.

7

5

6

B

C

:

 

R

=

1

6

0

.

0

0

0

 

L

=

3

1

.

4

2

4

S

S

_
S

R

E

:
 
S

T

A

=
1
+

7
0
0
.
3
4
 
A

=
8
7
.
1
1
8
 
L
=

5
0
.
5
9
7

B

C

:
 
R

=
1
5
0
.
0
0
0
 
L
=

3
2
.
9
6
0



2

,
4

2

%

2

,
7

6

%

-0
,9

7
%

1

,
8

0

%

9
8

5
.
0

9
9

PK = 1+871,202

Cv  = 985,812

Kv  = 4345

E   = -3,39

L   = 147,370

d   = 0,625

9
8

5
,
0

1
5

9
8

5
,
5

1
2

9
8

7
,
1

1
0

9
8

9
,
6

0
8

9
9

3
,
0

7
7

PK = 2+493,188

Cv  = 995,714

Kv  = 14290

E   = 1,34

L   = 191,302

d   = 0,320

PK = 2+216,819

Cv  = 988,096

Kv  = 11454

E   = 0,96

L   = 109,694

d   = 0,131

PK = 2+013,318

Cv  = 984,436

Kv  = 4325

E   = 2,77

L   = 119,700

d   = 0,414

1

+

6

4

0

1

+

6

6

0

1

+

6

8

0

1

+

7

2

0

1

+

7

4

0

1
+

7
6
0

1
+

7
8
0

1
+

8
2
0

1
+

8
4
0

1
+

8
6
0

1
+

8
8
0

1
+

9
2
0

1
+

9
4
0

1
+

9
6
0

1
+

9
8
0

2
+

0
2
0

2

+

0

4

0

2

+

0

6

0

2

+

0

8

0

2

+

1

2

0

2

+

1

4

0

2

+

1

6

0

2

+

1

8

0

2
+

2
2
0

2
+

2
4
0

2

+

2

6

0

2

+

2

8

0

2

+

3

2

0

2

+

3

4

0

2

+

3

6

0

2

+

3

8

0

2

+

4

2

0

2
+

4
4
0

2
+

4
6
0

2

+

4

8

0

2

+

5

2

0

2

+

5

4

0

2

+

5

6

0

2

+

5

8

0

2

+

6

2

0

L
E

:
 
S

T
A

=
1
+

9
5
1
.
7
4

S
S

_
L
R

B
:
 
A

=
1
1
2
.
0
0
0
 
L
=

5
9
.
7
3
3

L

E

:
 
S

T

A

=

2

+

1

6

0

.
1

1

S

S

_

L

R

B

:
 
A

=

8

7

.
0

5

7

 
L

=

5

0

.
5

2

6

L

E

:
 
S

T

A

=

2

+

3

8

7

.
5

3

S

S

_

L

R

B

:
 
A

=

9

6

.
9

8

8

 
L

=

6

2

.
7

1

1

S

S

_

L

R

E

:

 

S

T

A

=

1

+

5

5

0

.

9

4

 

A

=

9

1

.

0

0

0

 

L

=

5

1

.

7

5

6

L

B

:

 

L

=

9

8

.

8

0

9

 

D

I

R

=

S

7

2

°

 

0

0

'

 

0

3

.

2

6

"

W

S
S

_
L
R

E
:
 
S

T
A

=
1
+

7
8
3
.
9
0
 
A

=
8
7
.
1
1
8
 
L
=

5
0
.
5
9
7

L
B

:
 
L
=

1
6
7
.
8
4
4
 
D

I
R

=
S

4
0
°
 
0
5
'
 
0
4
.
7
4
"
W

S

S

_

L

R

E

:
 
S

T

A

=

2

+

2

8

0

.
7

4

 
A

=

8

7

.
0

5

7

 
L

=

5

0

.
5

2

6

L

B

:
 
L

=

1

0

6

.
7

9

2

 
D

I
R

=

S

4

9

°

 
1

5

'
 
0

4

.
3

3

"
W

S

S

_

L

R

E

:
 
S

T

A

=

2

+

0

7

6

.
0

3

 
A

=

1

1

2

.
0

0

0

 
L

=

5

9

.
7

3

3

L

B

:
 
L

=

8

4

.
0

7

6

 
D

I
R

=

S

2

2

°

 
2

8

'
 
2

0

.
7

6

"
W

S

S

_

L

R

E

:

 

S

T

A

=

2

+

6

0

7

.

0

2

 

A

=

9

6

.

9

8

8

 

L

=

6

2

.

7

1

1

L

B

:

 

L

=

1

0

5

.

9

7

2

 

D

I

R

=

S

1

0

°

 

3

8

'

 

0

0

.

2

6

"

E

E

C

:
 
S

T

A

=

1

+

7

3

3

.
3

0

 
R

=

1

5

0

.
0

0

0

 
L

=

3

2

.
9

6

0

S

S

_

S

R

B

:
 
A

=

8

7

.
1

1

8

 
L

=

5

0

.
5

9

7

E
C

:
 
S

T
A

=
2
+

2
3
0
.
2
1
 
R

=
1
5
0
.
0
0
0
 
L
=

1
9
.
5
8
1

S
S

_
S

R
B

:
 
A

=
8
7
.
0
5
7
 
L
=

5
0
.
5
2
6

E
C

:
 
S

T
A

=
2
+

0
1
6
.
3
0
 
R

=
2
1
0
.
0
0
0
 
L
=

4
.
8
1
9

S
S

_
S

R
B

:
 
A

=
1
1
2
.
0
0
0
 
L
=

5
9
.
7
3
3

E

C

:

 

S

T

A

=

2

+

5

4

4

.

3

1

 

R

=

1

5

0

.

0

0

0

 

L

=

9

4

.

0

6

6

S

S

_

S

R

B

:

 

A

=

9

6

.

9

8

8

 

L

=

6

2

.

7

1

1

S

S

_

S

R

E

:

 

S

T

A

=

1

+

7

0

0

.

3

4

 

A

=

8

7

.

1

1

8

 

L

=

5

0

.

5

9

7

B

C

:

 

R

=

1

5

0

.

0

0

0

 

L

=

3

2

.

9

6

0

S
S

_
S

R
E

:
 
S

T
A

=
2
+

2
1
0
.
6
3
 
A

=
8
7
.
0
5
7
 
L
=

5
0
.
5
2
6

B
C

:
 
R

=
1
5
0
.
0
0
0
 
L
=

1
9
.
5
8
1

S
S

_
S

R
E

:
 
S

T
A

=
2
+

0
1
1
.
4
8
 
A

=
1
1
2
.
0
0
0
 
L
=

5
9
.
7
3
3

B
C

:
 
R

=
2
1
0
.
0
0
0
 
L
=

4
.
8
1
9

S
S

_
S

R
E

:
 
S

T
A

=
2
+

4
5
0
.
2
4
 
A

=
9
6
.
9
8
8
 
L
=

6
2
.
7
1
1

B
C

:
 
R

=
1
5
0
.
0
0
0
 
L
=

9
4
.
0
6
6



4

,
1

0

%

-
1
,
9
9
%

1
0

1
6

.
5

4
4

PK = 3+044,168

Cv  = 1018,277

Kv  = 2858

E   = -6,09

L   = 173,990

d   = 1,324

9
9

9
,
6

3
1

1
0

1
5

,
5

7
1

1
0

1
8

,
0

4
2

PK = 3+242,561

Cv  = 1014,325

Kv  = 1576

E   = 7,94

L   = 125,083

d   = 1,241

2

+

4

8

0

2
+

5
2
0

2

+

5

4

0

2

+

5

6

0

2

+

5

8

0

2

+

6

2

0

2

+

6

4

0

2

+

6

6

0

2

+

6

8

0

2

+

7

2

0

2

+

7

4

0

2

+

7

6

0

2

+

7

8

0

2
+

8
2
0

2
+

8
4
0

2
+

8
6
0

2

+

8

8

0

2

+

9

2

0

2

+

9

4

0

2

+

9

6

0

2

+

9

8

0

3

+

0

2

0

3

+

0

4

0

3

+

0

6

0

3

+

0

8

0

3

+

1

2

0

3

+

1

4

0

3

+

1

6

0

3

+

1

8

0

3

+

2

2

0

3
+

2
4
0

3
+

2
6
0

3

+

2

8

0

3

+

3

2

0

3

+

3

4

0

3

+

3

6

0

3

+

3

8

0

3

+

4

2

0

3

+

4

4

0

3

+

4

6

0

3
+

4
8
0

L

E

:

 

S

T

A

=

2

+

7

1

2

.

9

9

S

S

_

L

R

B

:

 

A

=

1

0

2

.

2

4

2

 

L

=

5

2

.

2

6

7

L

E

:

 

S

T

A

=

3

+

1

5

5

.

4

4

S

S

_

L

R

B

:

 

A

=

8

7

.

5

0

0

 

L

=

5

1

.

0

4

2

L

E

:
 
S

T

A

=

3

+

4

0

6

.
2

4

S

S

_

L

R

B

:
 
A

=

1

0

8

.
0

0

0

 
L

=

5

3

.
0

1

8

S

S

_

L

R

E

:
 
S

T

A

=

3

+

3

1

9

.
6

3

 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

L

B

:
 
L

=

8

6

.
6

1

5

 
D

I
R

=

S

0

°

 
5

4

'
 
4

0

.
9

4

"

E

S

S

_

L

R

E

:

 

S

T

A

=

2

+

6

0

7

.

0

2

 

A

=

9

6

.

9

8

8

 

L

=

6

2

.

7

1

1

L

B

:

 

L

=

1

0

5

.

9

7

2

 

D

I

R

=

S

1

0

°

 

3

8

'

 

0

0

.

2

6

"

E

S

S

_

L

R

E

:

 

S

T

A

=

2

+

9

5

0

.

0

5

 

A

=

1

0

2

.

2

4

2

 

L

=

5

2

.

2

6

7

L

B

:

 

L

=

2

0

5

.

3

8

9

 

D

I

R

=

S

4

2

°

 

1

8

'
 

2

2

.

1

7

"

W

E

C

:
 
S

T
A

=
3
+

2
6
8
.
5
9
 
R

=
1
5
0
.
0
0
0
 
L
=

6
2
.
1
0
2

S

S

_
S

R

B

:
 
A

=
8
7
.
5
0
0
 
L
=

5
1
.
0
4
2

E

C

:
 
S

T

A

=

2

+

5

4

4

.
3

1

 
R

=

1

5

0

.
0

0

0

 
L

=

9

4

.
0

6

6

S

S

_

S

R

B

:
 
A

=

9

6

.
9

8

8

 
L

=

6

2

.
7

1

1

E

C

:

 

S

T

A

=

2

+

8

9

7

.

7

9

 

R

=

2

0

0

.

0

0

0

 

L

=

1

3

2

.

5

2

7

S

S

_

S

R

B

:

 

A

=

1

0

2

.

2

4

2

 

L

=

5

2

.

2

6

7

E
C

:
 
S

T
A

=
3
+

4
8
8
.
0
5
 
R

=
2
2
0
.
0
0
0
 
L
=

2
8
.
7
8
6

S
S

_
S

R
B

:
 
A

=
1
0
8
.
0
0
0
 
L
=

5
3
.
0
1
8

S

S

_

S

R

E

:
 
S

T

A

=

3

+

2

0

6

.
4

8

 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

B

C

:
 
R

=

1

5

0

.
0

0

0

 
L

=

6

2

.
1

0

2

S

S

_

S

R

E

:

 

S

T

A

=

2

+

4

5

0

.

2

4

 

A

=

9

6

.

9

8

8

 

L

=

6

2

.

7

1

1

B

C

:

 

R

=

1

5

0

.

0

0

0

 

L

=

9

4

.

0

6

6

S

S

_

S

R

E

:

 

S

T

A

=

2

+

7

6

5

.

2

6

 

A

=

1

0

2

.

2

4

2

 

L

=

5

2

.

2

6

7

B

C

:

 

R

=

2

0

0

.

0

0

0

 

L

=

1

3

2

.

5

2

7

S

S

_

S

R

E

:
 
S

T

A

=

3

+

4

5

9

.
2

6

 
A

=

1

0

8

.
0

0

0

 
L

=

5

3

.
0

1

8

B

C

:
 
R

=

2

2

0

.
0

0

0

 
L

=

2

8

.
7

8

6



5

,

9

4

%

5

,

6

0

%

-0,52%

1
0

4
2

.
8

4
8

PK = 3+727,867

Cv  = 1043,167

Kv  = 1915

E   = -6,46

L   = 123,686

d   = 0,999

1
0

4
1

,
4

7
5

1
0

4
3

,
6

1
1

PK = 4+097,177

Cv  = 1041,258

Kv  = 1374

E   = 6,12

L   = 84,039

d   = 0,643

3

+

3

4

0

3

+

3

6

0

3

+

3

8

0

3

+

4

2

0

3
+

4
4
0

3
+

4
6
0

3
+

4
8
0

3

+

5

2

0

3

+

5

4

0

3

+

5

6

0

3

+

5

8

0

3

+

6

2

0

3

+

6

4

0

3
+

6
6
0

3
+

6
8
0

3

+

7

2

0

3

+

7

4

0

3

+

7

6

0

3

+

7

8

0

3

+

8

2

0

3

+

8

4

0

3

+

8

6

0

3

+

8

8

0

3

+

9

2

0

3

+

9

4

0

3
+

9
6
0

3
+

9
8
0

4

+

0

2

0

4

+

0

4

0

4

+

0

6

0

4

+

0

8

0

4

+

1

2

0

4

+

1

4

0

4

+

1

6

0

4

+

1

8

0

4
+

2
2
0

4
+

2
4
0

4
+

2
6
0

4
+

2
8
0

4
+

3
2
0

4
+

3
4
0

L

E

:

 

S

T

A

=

4

+

1

4

2

.

9

8

S

S

_

L

R

B

:

 

A

=

9

6

.

5

2

2

 

L

=

5

1

.

7

5

8

L

E

:

 

S

T

A

=

3

+

8

8

2

.

8

7

S

S

_

L

R

B

:

 

A

=

8

0

.

2

0

0

 

L

=

4

9

.

4

7

7

L

E

:
 
S

T

A

=

3

+

4

0

6

.
2

4

S

S

_

L

R

B

:
 
A

=

1

0

8

.
0

0

0

 
L

=

5

3

.
0

1

8

L

E

:
 
S

T

A

=

3

+

6

3

2

.
1

3

S

S

_

L

R

B

:
 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

S

S

_

L

R

E

:
 
S

T

A

=

3

+

3

1

9

.
6

3

 
A

=

8

7

.
5

0

0

 
L

=

5

1

.
0

4

2

L

B

:
 
L

=

8

6

.
6

1

5

 
D

I
R

=

S

0

°
 
5

4

'
 
4

0

.
9

4

"
E

S

S

_
L
R

E

:
 
S

T
A

=
4
+

2
9
2
.
7
5
 
A

=
9
6
.
5
2
2
 
L
=

5
1
.
7
5
8

L
B

:
 
L
=

1
7
0
.
3
1
5
 
D

I
R

=
S

1
°
 
1
1
'
 
2
3
.
9
6
"
W

S

S

_

L

R

E

:

 

S

T

A

=

4

+

0

5

4

.

3

1

 

A

=

8

0

.

2

0

0

 

L

=

4

9

.

4

7

7

L

B

:

 

L

=

8

8

.

6

6

5

 

D

I

R

=

S

3

2

°

 

2

3

'
 

1

9

.

4

2

"

W

S

S

_

L

R

E

:

 

S

T

A

=

3

+

7

9

2

.

5

0

 

A

=

8

7

.

5

0

0

 

L

=

5

1

.

0

4

2

L

B

:

 

L

=

9

0

.

3

7

2

 

D

I

R

=

S

2

1

°

 

2

1

'

 

5

3

.

2

7

"

E

S

S

_

L

R

E

:
 
S

T

A

=

3

+

5

4

1

.
0

6

 
A

=

1

0

8

.
0

0

0

 
L

=

5

3

.
0

1

8

L

B

:
 
L

=

9

1

.
0

7

0

 
D

I
R

=

S

2

0

°
 
2

3

'
 
3

5

.
7

1

"
W

E
C

:
 
S

T
A

=
4
+

2
4
0
.
9
9
 
R

=
1
8
0
.
0
0
0
 
L
=

4
6
.
2
5
5

S
S

_
S

R
B

:
 
A

=
9
6
.
5
2
2
 
L
=

5
1
.
7
5
8

E

C

:
 
S

T

A

=

4

+

0

0

4

.
8

3

 
R

=

1

3

0

.
0

0

0

 
L

=

7

2

.
4

8

6

S

S

_

S

R

B

:
 
A

=

8

0

.
2

0

0

 
L

=

4

9

.
4

7

7

E

C

:

 

S

T

A

=

3

+

7

4

1

.

4

6

 

R

=

1

5

0

.

0

0

0

 

L

=

5

8

.

2

8

1

S

S

_

S

R

B

:

 

A

=

8

7

.

5

0

0

 

L

=

5

1

.

0

4

2

E
C

:
 
S

T
A

=
3
+

4
8
8
.
0
5
 
R

=
2
2
0
.
0
0
0
 
L
=

2
8
.
7
8
6

S
S

_
S

R
B

:
 
A

=
1
0
8
.
0
0
0
 
L
=

5
3
.
0
1
8

S

S

_

S

R

E

:
 
S

T

A

=

4

+

1

9

4

.
7

3

 
A

=

9

6

.
5

2

2

 
L

=

5

1

.
7

5

8

B

C

:
 
R

=

1

8

0

.
0

0

0

 
L

=

4

6

.
2

5

5

S

S

_

S

R

E

:

 

S

T

A

=

3

+

9

3

2

.

3

5

 

A

=

8

0

.

2

0

0

 

L

=

4

9

.

4

7

7

B

C

:

 

R

=

1

3

0

.

0

0

0

 

L

=

7

2

.

4

8

6

S
S

_
S

R
E

:
 
S

T
A

=
3
+

6
8
3
.
1
8
 
A

=
8
7
.
5
0
0
 
L
=

5
1
.
0
4
2

B
C

:
 
R

=
1
5
0
.
0
0
0
 
L
=

5
8
.
2
8
1

S
S

_
S

R
E

:
 
S

T
A

=
3
+

4
5
9
.
2
6
 
A

=
1
0
8
.
0
0
0
 
L
=

5
3
.
0
1
8

B
C

:
 
R

=
2
2
0
.
0
0
0
 
L
=

2
8
.
7
8
6



-
1
,
5
2
%

5

,

7

6

%

1
0

5
9

.
7

7
6

PK = 4+484,957

Cv  = 1062,971

Kv  = 5886

E   = -7,12

L   = 419,307

d   = 3,734

1
0

5
9

,
6

0
0

1
0

6
4

,
9

4
5

PK = 4+832,263

Cv  = 1057,678

Kv  = 3462

E   = 7,29

L   = 252,223

d   = 2,297

4

+

1

8

0

4

+

2

2

0

4
+

2
4
0

4
+

2
6
0

4
+

2
8
0

4
+

3
2
0

4
+

3
4
0

4
+

3
6
0

4
+

3
8
0

4
+

4
2
0

4
+

4
4
0

4
+

4
6
0

4
+

4
8
0

4
+

5
2
0

4
+

5
4
0

4
+

5
6
0

4
+

5
8
0

4
+

6
2
0

4
+

6
4
0

4
+

6
6
0

4
+

6
8
0

4
+

7
2
0

4
+

7
4
0

4
+

7
6
0

4
+

7
8
0

4
+

8
2
0

4
+

8
4
0

4
+

8
6
0

4
+

8
8
0

4
+

9
2
0

4
+

9
4
0

4
+

9
6
0

4
+

9
8
0

5
+

0
2
0

5
+

0
4
0

L
E

:
 
S

T
A

=
5
+

0
5
2
.
1
5

E
P

:
 
S

T
A

=
5
+

0
5
2
.
1
5

L
E

:
 
S

T
A

=
4
+

4
6
3
.
0
6

B
C

:
 
R

=
1
1
2
9
6
.
8
3
7
 
L
=

2
8
5
.
0
0
0

E
C

:
 
S

T
A

=
4
+

7
4
8
.
0
6
 
R

=
1
1
2
9
6
.
8
3
7
 
L
=

2
8
5
.
0
0
0

L
B

:
 
L
=

3
0
4
.
0
9
0
 
D

I
R

=
S

2
°
 
3
8
'
 
0
7
.
6
7
"
W

S
S

_
L
R

E
:
 
S

T
A

=
4
+

2
9
2
.
7
5
 
A

=
9
6
.
5
2
2
 
L
=

5
1
.
7
5
8

L
B

:
 
L
=

1
7
0
.
3
1
5
 
D

I
R

=
S

1
°
 
1
1
'
 
2
3
.
9
6
"
W

E

C

:
 
S

T
A

=
4
+

2
4
0
.
9
9
 
R

=
1
8
0
.
0
0
0
 
L
=

4
6
.
2
5
5

S

S

_
S

R

B

:
 
A

=
9
6
.
5
2
2
 
L
=

5
1
.
7
5
8

S

S

_

S

R

E

:

 

S

T

A

=

4

+

1

9

4

.

7

3

 

A

=

9

6

.

5

2

2

 

L

=

5

1

.

7

5

8


